~
~—

@

3

4)

®)

©)

(N

®

@

LD - 8D THT X IHT
% Al A H
(+DX (=9 P (=px(+8 P (+Dx(-8 W
<_+4>><<+5> e (_—3)><(—|—é) o <_+5>><<+9> 0
<_+2>><<—5> " (_—8>><(—2> o (_+4)><(—8) or
(_+é>><(+2> 0 <_—3>><<+9> i <_+5>><<+5> 2
<_+2>><<+9> e <_+4>><<+2> w7 <_—é>><<+7> ©
(_+9>><(—8> o <_+7>><<+7> o <_—3>><<—8> (69
(_+8>><(+8> ) (_—Q)X(—é) @ (_—8)><(—|—2) ©
<_—3>><<—9> o <—+7>><<+9> o <_+5>><<—<;> (%0
<_—9>><<+4> ) <_—2>><<—7> “ (_—I—é)x(—é) D
(_—é>><(+9> o (_—2)><(—8) “ <_—é>><<+3> )
(——7>><(+é> e <_+3>><<—4> “ <_+5>><<+8> 69
<_—9>><<+2> o (_—é)><(+é) “ (_—|-3)><(—é) (©0
<_+9>x<—2> 7 <_—5>><<—3> w (_+C))><(—6) v
<_+3>x<+7> o (_—4)><(—I-é) “o <_+7>><<+3> @
<_—9>x<—3> o (_-|-4)><(+8) “ (_—Q)X(—H)) (©9
) (32) : (48) : (64)

(+5)X(—=3)

(+H)X(+6)

(+3)X(+4)

(+8) X (+3)
{—@x(—@
£+%x(+®
£+2X(—@
£+®X(—®
;+2)x(+2)
;+%X(—®

(+2)X (=)

— 7 X(—8)

I

(+6)X(=8)
;—ax(+®
;—%x(+®
g+$x(—%

—3)X(+3)

I

—8) X (=9

I

(+7)X(+5)



~
~—

2

~—

3

4

~—

6

Z

©)

(N

O - BOI  THT XIAHT
(+)X (= P (=px(+8 P (+7x(-8 W
= —27 - —24 = — 56
(+HX(+8) P (=yx(+6) P (+Hx(+9 P
=+20 - —18 = +45
(+2x (=5 17 (=gyx(=2) @ (+Hx(-8 O
= —10 =+16 =32
(+OX(+2) @ (=Px(+D ¥ (+5x(+5 @
=+12 = —27 = +25
(+2%x(+9) @ (+Hx(+2 TV (—ox(+D @
= +18 -+8 = —42
(+DX (=8 @ (+Dx(+7 P (=Px(-8 &
=—172 = +49 = +24
(+8X(+8) @ (=9x(=6) ¥ (—gyx(+2 @
=+ 64 - +54 =—16
(=DX(=D @ (+Dx(+9 W (+5x(-9
=+ 27 = +63 = —45
(=X (+4) @ (=x(=D W (+ox (=6
= —36 = +14 = —36
(—OX(+9 @ (=x(=8 P (—ex(+3 @
= — 54 = +16 -—18
(=Dx(+6) P (+Ix(=hH W (+5x(+8) P
= —42 =—12 = +40
(=NX(+2) @ (—oOX(+6) W (+3hx(-¢) @
= —18 - —36 -—18
(+NX (=2 @ (=5x(=3) “ (+9x (-5
= —18 =+15 = —45
(+DX+D D (—Hx(+6) W (+Dx(+3 P
= +21 = —24 = +21
(=X (=3 O (+Hx+8 P (=9x(+6) @
=+ 27 -+32 - — 54
(+5)X(=3) P (+5)X(+6) W (+Px(+4 @
=—15 = +30 =+12

B E i

(+8)X(+23)
=424
(—6)X(—=2)
=412

(+ DX (+4)
= +36

(+2)X(—=8)
=—16
(+4)X(—06)
=—24
(+2)X(+2)
=+ 4
(+9X(—4)
=—36
(+2)X (=7
=—14
(=7 X(—=8)
= + 56

(+6)X (=8
= — 48

(—5H) X (+6)
= —30
(=7 X(+5)
=—35

(+3)X(=7)
=—21

(—=3)X(+3)
=—9
(—8) X (=9
=+ 72

(+7)X(+5)
=+ 35



